e o
(%g%) p @ (@ four decimals, order of operations with brackets

Name: Date: Score:
1029 +3.3)+2 = 53— 62(45-55)=
(54+64)x5+38= (15+3—6.4)x5.5=
(3.1-24)x3+58= (15+5-24)x 3.7 =
(30+6+4.9)x 2.3 = (6+2-2.6)x 6.8 =
12(5.6— 5.6)~4 = 54-6502.7+4.1)=
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TSR Rl . . .
%Y Bl four decimals, order of operations with brackets

Name: Date: Score:
1029+ 3.3)+2 =31 53-62(4.5-55)=115
54+64)x5+38=06238 (15+3-64)x55=-7.7
(31-24)x3+58=179 (15+5-24)x3.7=222
(30+6+4.9)x23=2277 (6+2—-26)x68=272
12(5.6 —5.6)+4=0 54—-652.7+4.1)=-388
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